Min := 0 Nom := 1 Max := 2
VN = (380-0.95 380 380-1.05)-1V = (361 380 399)V
Vour = 55V
IO_M AX = 40A
Ideal turns ratio will require a gain of 0.5 at nominal input voltage

V
] INO,Nom
NIdeal = ——— = 34545

2-Vout

Itis possible to use a transformer turns ratio that differs from the ideal given above, but keep in mind
that this will lead to a sub-optimum result. For this example we will continue to use this turns ratio.

The next step is to compute the LLC gain range required to cover the range of input voltage.

Ny qont-V.
Ideal VOUT
x= —— 2 (0526 0.5 0.476)

VIN

Now the design process will focus on the maximum power that must be delivered at minimum input
voltage. Let us assume we have selected an Im ratio (Lm/Lr) of 5. The ZCS/RR Boundary curve
crosses the x=0.53 curve slightly above the linavno=0.6 horizontal (See Figure 13 of the Application
Note). This occurs at a normalised switching period of Tpn=1.13.

IinavMaxno := 1.6
TpMaxn := 1.13

Using these two parameters obtained from Figure 13 we can now work out the resonant components
required to achieve your specfication and switching frequency target.

fSWl’l’llIl = ZOOkHZ
IinavMaxno~NI deal'VOUT

Zn = =17.6Q
Io Max

w0 := 2-1-TpMaxn-fgyymin = 2-26 ¥ IOS-Hza



z
Lri= 22 = 5352.uH
w0

Cr:= ! = 92.661-nF
Zn-w0

Lm:= 5-Lr = 26.761-pH






